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(1) (111—-63) +2Xx2X2= (2) (111-63) = (2x2)X2=
(83)72—14X6+3= (4) (72—14)+(6+3) =

(5) (12+8%x21) +12= (6)252+4+72+8=

(7) (203—26X%X7) ~(7X3)= (8) (91+(500—33%x7))+6=

O RoXHERVLDOESILRIZ( ) EBEANES (122
(1)(4 + 36)+- 4 x 2 =20 (2 50+ 10 x 10 =+ 2 =300

(83 23 X 91 = 13 =161 (4) 38 + 16 = 22 — 16 =9

%) 121 - 121 — 10 x 11 =11
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(1)107—150+2+88+4= (2)26X9—-702+-3=

(3) (111+24%x6)+-15= (4) 186+-6+133+7=
(5)176+(22—98+7)= (6)17+56%X14+-56=

(7) (2736+-8—27%X6) -60= B)TTXTTH+TT—TTXT78=
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(V8 +7 +5 -5 =4 (2) 18 + 17 + 46 =~ 7 =27
3) 7 X 7 +7 =7 =14 4) 70 + 28 =14 — 5 =2

(5 72 -+ 9 + 27 X 74 - 37 =4
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(1) 5Xx8— —~3=30 (2) 8% —4x5=100

(3)60+12X —~8=66 (4) —3+88+8=22

(6)18x%x (30— +-5)=324 (6) 25%X4+ —4=200

(7) ( +36%x2)+-10=10 (8) (138—6X ) =5=24

O romEE. (53%%| |ELE1DORICLT. [HZHIBHED (s
(1) BBHICI TEELTEOHAESET HE. 135ChYET

B2 HRZ (D)

(2) 7T0005H 28DV eHE32ThBHE 19HFYOICRYET

2 HRZ(DDHE)

(3) 175ICH B ED T 7=5H»h510020< . 400%5FL#HERUICRVET

B2 HE2Z(DHBE)

(4) 4I. B2 HDB3B8% VDN EHEE2THh>TI16/FLTTE 100ICARYET

2 HRZ(DDHE)

©&FIZ®»ch @ misonya.com




	MS_4_sansudrill_25_keisan2_1
	MS_4_sansudrill_25_keisan2_2
	MS_4_sansudrill_25_keisan2_3

